LC%OV\ 620 ou ©.3 Mo [ec;/ure //('on/A)/, 34'2»24 Twes

(Z//qlgo Ae Wed, WebEx Wesf 3"‘4770:4

Tt
Unit sz‘ep Lonetron <{‘/am/'/g;’/e ,Qn> t ? ul )
l >

U t—-C

Turn on at 4ime ¢ 1 em<)
A [ >

| \’ , . = u(t)

Suitehs  y(t-a) — u (Jc;\e)

1 l
om«+ﬂ a‘p‘PaTLb

7/0 1917 f&c’ILS /> S- Sé/‘p'//}7 ‘PDYMM/;( j[ fpftﬂ: F(s—-q>
2) & s H“jj formulo ;/]:uéc—cw&%ﬂ 2 FG)

Take P)=1 - X’Z}c@cﬂj—- e _s}—
Why 2 [ule-c)#le-<) | = j = e

-(:<c
ﬂ_'b?C
—<T
T = f & Rl ot i e e
C’ ~
' dv=dt
Wheq t=c¢ i T=c-e= O
as t—>x Th’? m’bo
e Ttc
- 17 T )
- o —V—
i e_s-re-cs
sy O
= TR T
Z'
Fis) —
N 1 ’ﬂ\ uloe)re)
T | <




Teick: t= [(»c-m (;_]

e

ax: f Luedt ]= 7

+ wish ‘P(-(:—Z)

NNA 2 R
(e [EN3T] = WD + GRS+ Tult )
JeB)=(e3) g )=t3
—?(‘(;):‘ —{,2 }(‘t):'t
~35

~3s s .
% = € \:(5)1’@63 C";(s\)—f-ﬁ_;—-

—35 Q =35 { _2s
= & <* + Ge —SE- + 9e /'SL

e

6,2(/' u (£ '71‘> Gnt
t

i

BEVAAY

AN A_—

u (-1 Sin [ G-mhrr |

L? <in (‘ﬁ‘ﬂ)—’ (osotﬁ’ngqt §7w(03£ - F*‘”‘,/

u&’r’i) (05&’?7) E/ZL(’I + g;h({-{;) Gs 7
[ty sty
= -y @&-7) Snlt-m)

VS

M)z Sim (-T)
Ye) =St

[

TS
;/:"@ &+
AT $int
TS L W
= — ,
T
e

sitch
10 = [l T [ naenf(m) ¢ wled 0
1\ /IK m:{;% j—\#’a—/(" on q_'l/ ’IT

on a1 () oL 4 %
l </Vwer o-”)

e ey = L0 o) §107
1y R

T
1)

|

)

G
NE&

At




j(t)’ [‘4({ 0) = u(t- “)J(u> + “[‘t 7)1
—r\ (’6 0) (1-0) — T (4(-(:— )B-ﬂfﬂ + u{é ux

7Cm/(
— .L M( —a),‘t—a) —}._u(é ’"L)C‘- 77')
— ?1 l( —_—
¢t T)';Ct—"?/)
so t&]=1
con L e L 1 ogms L
(5)= TTT > T e
— L /I- p—ﬂs 'E_n
T 7S
/

X Ly +q] =Xy

/ — £ \ T/ - C/ \

(Y -s540-40) )+ = &%)
RN
V= & GO =7 Sewy” T 564

4\9_, H() HE)
’[lﬂ.!u—lv

Fen
— ) — u-mh ()

S S
S A .L'B‘ Cst = X g
Ly = 22 S %1 7 “ '

do T
< - ‘t\




